QUESTION ‘T[[’lE (7 Dec ZO’('(>

7A((/CS Yo o

@ X,\(/ Bomada. —r€ &CX,Yy ) (njcoln‘v-e) with bdd Inresie_
on (ZQA,\T) omd  RoulT danve i O
V(/LQ Can Ore ol.-{.m T on Hu whte T?

[ Manved)

/Amsmr o itls am apelicakon O’{/vHAL Bound.ed Ex Gnrow ?ma(y&:
TA: QomT—»X i< bdd awd RoanT =X B whum ce T" Com be um%wﬁé_

oxtnded fo Yo X wilh Hae same o

Explicty : Lk ye 'l dhun geu_ligM:TxMeflamT, (U
Concdgyin X becamie L9ub, & Guucly e Cnd T 56 Ranl— 7.
( I Xon= Lo \lxé il | llgn—%m\p. Thys (comptetinen) xnk——»xex.
o x 1 um‘qw% dunhified by 9 - Dndeed ff geg,n:‘r{c:\

How  Fum FeX omd xRl & I z-xn Mt Wrns Zn
N &, I € M-zl + 0Tl gpsSngl + |2~z —©

o kb—00 viimee x=%. MSQ?::L.

Stamdond chueckes S is Linear, < NT Uiy
Qisbdd ble Syl =Nl ’ﬁ“&“ a2, 1 = ﬁﬁfg ITY. Il < Tl &: 1Y,
S ageen e T 'ow Rowe T (obvions). T=x YeeK irobvies,

- @yeﬂwff-

T(S‘y): Tx= —T(‘«'w\xh-e,\ = b Tx’\ﬂ& = L T Yne = “@w:ﬁ"'&: g
Thes § e T o Hewhde 77



@ Tadasy € BX, T) was dafired Ho be coupack
( ’E 5 comqack w7 (€ = ixeX, lxf<tb)

———

Whieas Alcsiandro v B (Bi= bxex fxp<f).
Ig 'HAM 'H/"(JOVWLL(?

( ManvEL, agius)

»Aﬂ/\swu > Sdro!

A Sranas :Fé; COW&()MA'\IVL ¥ Ree —TE,, C’FE,, O‘?viovyej ond Thus

TR, is o dosed sbick 4 @ conguck, Hum TE, oo i comgook-

\/\oL WUSA:T  ASvma l @1 COWVac)‘ﬁ

Taa 4e T, le ye—Ta, | lzall <4,
w» %M::: m—A x,, . ;Mé B: b{C/ "gfh H‘.; o llxmll <4,
o Ny T 4 Dy-Tan |l + | T T |
€ Ny Tl + 2l 272,
M =
<"

whumat SGE'

Concluron TR =TK

1 17



@ EXM/QM 0’& Vrojed\‘ovxs on oo Halberk fpace L(«ad-wg{:
ortiegonal T (pALivs]

CuanyIee Eh?‘m’ Rett  Probtein 4w clauy no. A (()wd' (vy).

OMurwise, Conpder e.g. P:(ff : P1:(2f>:p

Wk P£ 0"

@ ’r]/\’# S{)(_ON'UW\ 01, V‘(/ (V [__LCOM]—-r LL(:OM:\ ; Vawfra)
lookts Gilee  Har Spechunn c", e LaPIac(qM in & box, g Yl

M\\ngco&“ Unle behwen Vollara amd {o\,c;c[;%r? [ﬂAQ(US]

w ]
Omgwes O’(V*V) = % L U {Oz\ (/- Ex«c\}cﬂy

T
715 (m 4‘3‘\ Mm=9Q

o Y M cminiscunt ci A Whida (s vndxrrfvw-ﬂ(a%/
O (-B)

becan ve \/‘\/f:,’(ﬁ ) ,Af1§,£ (jn A i) .

I oW words, ih(orwmu«g f»p&on?) Vs Hu ank _ Senvoiee



@ TsHast @ \/\J(,«g/» cnlenon 7Qr‘ Hew C?Mj Sﬁ»ct/l\ﬂﬂ«? Z_HAQVS]

Ompeer | recatk Har Ty (T) hay differat (non- equivedant)
AL}QMHOV\I inHe Lkredie. ledls talee hase Hae dﬁf Aven n class :

ot (“ﬂ _ {/\e C L (O =T) is injechve } Lok /)GO"@WA (7_)

(A7) s ruo‘r Nrjechve
Rown (A1) dunse X

Gnee (A1) 5 injechiee, Hoom i1 cuerkile on ibs Tamgpe:
3 (17" Ran (AT) = X. Neassarity (A1) =0, bcawsn
e (A-TV" s be extimded b beld cposator onthe
whole X controdichng Haw aibunphion Hook (AT) 15 hot furjechve.

’TMJWL e N = G (A1) x € Rom (A-T) hch ok

"(AJ—)’ Im “ > m. -HMS l‘W\Q/(A‘CS H (;\'T)Im ” - A

— /l/' ]

llgmll ”va\”
Cek 2,0 = X . hum {% mey € a eﬁmuﬁr‘—i—a},\

X an )

becawse [[2mll= A owd \l'(—%a—ﬁxznu——w an M— Q.



